| En 137 Hw 7

50\%%\0/\17

Problem |

I’Z’Z asbowd Center C‘f\( mags

For Sphere = él'— Yo >
ﬁfff Cuabe = é—m—bz
Porerdlel Oy i Heorery — Iz= ;J’:zacm + e
L~y a 5pher\é i Iuo = ; Mrbz 4+ 2m (’QL2+’Q4’L)
Py o cube T=22° = -é_’-v\n«(al + o~y
2 Toted  momenrt ol ioksha & o -
Jer = M[ég—fol-!— 4 L% + g2 4 3'/%"]

E



Pro blery 2

a) h=2a _ 3 { °© 0
= CI] = = ma*
'O l O
o 0o | -
(b) z | ", Lo o T
7! i g = 0 CsG sho v
& ) o -8ng casb .
%l)z,’ 7 /\/—\/
©="3 (]
— T
[T']= ) Cx]l1
Y | 0 o
[T]- &ma* K
o ap o0
0 @) I/IO A’m
33@ -
, O F5 0 o
(T]= ma*
0 04128  ~o0-1349




Prablem 2

MY obout Z = ITea = o Tt

o o0
> [T) - I#
0 l 0
o) o 2
(4] - (2]
R Ry Lo 0 Wi APy 2
Hy = It 0 [ 0 wdy = A+
e 0O o % Wiz
WIx
S I'\.'
=Y
2uWz
W« H = |u)H‘H‘(,qu> where ¢ = ﬁwﬁ]« bet? W LH
Wty 'z N
- cosh = SC+7+L—C

(Ot 1ogtpawe)!e (aridyhh0<)e

Let w?= moamwc r/?j wd =—Cvmw
o Wiyt = W Towe®
S cosk = w2 o

( W 3w (W) >

For moximum ¢ — cos @ shoudd be minimum

W T+ wWe .
= sShoudd be  minimuemn
(LZ43wWM) 1=




LQJ— _ :J udn e O <
uwt
118 =
= C@SCI) =
14342
icwsqb) = =) J=0 ox
-

Hence nox o

5?@ cosd = 1

cas™ (0°9428)

5

IN

=

&=

¥
&uvu cosd = 094248

19-47° — Am-



